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POLITICAL SCIENCE
Paper : POL-SE-4014/4024
( Skill Enhancement Course )

Full Marks : 50
Time : 2 hours
The figures in the margin indicate full marks
for the questions

Answer either in English or in Assamese

OPTION—A
Paper : POL-SE-4014
( Panchayati Raj in Practice )

1. Choose the correct answer (any four) : 1x4=4
w5 et IR Tfear (R @ wifot)

(a) In which year the Constitutional
(73rd Amendment) Act came into force?

FRYFT 198 FACNER A FIH 571 *[
oS 91 ¢’ ?

(i) 1992 / >»d

(i) 1993 [ >3»®

(iii) 1994 [ >3»8

(iv) 1995 / s»>¢

22A/1324 ( Turn Over )




(2) (3)

(b)) What is the full form of PRIA? (e) From which year was tt?e 8001.a1 audit
PRIAY quf HOCE [ 9 process first introduced in India?

e ANER 3o =k afEsy W

(i) Participatory Research in Assam SR o1 2L A AT 9 et 2

(i) Participatory Research in Asia

(i) 2001
(i) Practice Research in Assam 3003
(iv) Practice Research in Asia (i) 2003
(¢ In which year the first State Finance Ro0w
Commission was constituted? | (i) 2005
v AT RS Wi @R v | Joo¢
e Al i) 2011
(iv)
(i) 1991 / 533 ty® R033

(i) 1994 / 3538 vy () In which year the Panchayat Extention

(i) 1996 / 3350 e : Scheduled Area Act was adopted?
(iv) 1997 / s354 T® (FF DTS A¥ES  TRPRT SpifSe oo

Wﬁmwmim

(d) The Comptroller and Auditor-General of

India  audits the accounts  of , (i) 1993
Panchayats, R
AR S - W § (#) 1996
fRoret *Rvmr 7¢3 | | 3550
() Yes (iii) 1998

= 3550

(@) No (iv) 2005

a7 oo¢

22A/1324 22A/1324
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(4)

.(g) Ashok Mehta Committee recommended

for

IR (TR TR0 AT S FRfe

(i) two-tier system of Panchayati Raj

TRYEAR AABTHORTS 7T

(i) three-tier system of Panchayati Raj

oA semoR® e

(i) four-tier system of Panchayati Raj

BIREAAN “eRORTS T

(iv) None of the above
@R GblS T

(h) In which year the Harijans or
untouchables of Hindu society were
covered under the term ‘Scheduled
Castes’ by the Simon Commissijon?

A e Ry e Rew

PP

WWWW@W’W

SIS R oAy R 9
() 1931 / ssey
(@) 1933 / ysee
(@) 1935 / yyee
(iv) 1938 / vy
22A/1324

e RS

(5)

2. Write very short answers (any three) : 2x3=6
WS 53 Teq o (R e fofb) -

(@)

(b)

()

(@)

(e)

Give two suggestions to mobilize
people’s participation in Panchayat.
ALACS GPIYRT ST e oifeN
19T <M1, 70! 1P SHIeRCE |

Mention two core areas for micro-level
planning.

T RHE ARTEAR P G G ey
1

Mention two steps taken in social audit
in local bodies.

TR RemiRe M Ryt oRwTe e
o1 el S|y 901

What do you mean by inter-
governmental transfer?

SR TR IR oY R e 2

Mention two constitutional provisions
for protection of minorities.

TRIFAPFTE PR IR < 951 MR
[T SEy 790 |

(7 What do you mean by scheduled area?
SPICS ¢ A T I oY @2
22A/1324
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(6)

3. Write short notes on any two of the
following : 5x2=10

TS I R Pl PR 8RS 5 Gt B

(a) Problems of people’s participation in
Panchayati Raj Institution

AT TP TPIYRE ez
MRS

(b) Needs of assessment of Panchayati Raj
System

wm@wmwwmmm

(c) Panchayat financial year

sz e

(d) Fiscal decentralization

e Rzl

(e) Problems of minorities in Panchayati
Raj System

WWWWWW

() Problems of implementation of the

Panchayat Extention to the Scheduled
Area Act

RS SPifoe CHg-sTREem St R I
CRIS 41 STTPTR

22A/1324 ( Continued )

(7))

4. Answer any three of the following questions :
10x3=30
O 2ee R e fofbre T o

(a) Discuss the process of participation of
people in Panchayati Raj Institution. 10

ALTTORTS W‘Iéﬂ_\o GPIYRR SER affemn
HICAAT 991 |

(b) Discuss the process of involvement of
people in micro-level planning. 10
P R ~RFTEe SPIRT Sie aR
aAferaT Seems= <54 |

() What do you mean by devolution?
Discuss the devolution of functions in
Panchayati Raj Institution. 4+6=10

WD P PR & @2 oS
SEBINS TR T T9ICE SCAIA 41 |

(d) Discuss the constitutional and legal
provisions on Panchayat finance. 10
e Res cvaqe TRaFT W sz
LR T9CE LA 47 |

(e) Discuss the procedure for audit of
Panchayati Raj Institution. 10

ALEOTE SOIA 1211 AP *rfS wsyzese
9
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(9)

)

22A/1324

(8)

What do you mean by social audit?
Discuss the objectives of social audit.

4+6=10
e fRoret {1 e o & 3@ 2 sl
Roret =R STRIPTR A 317 |

Discuss the challenges before the
elected women representatives of
Panchayati Raj Institution. 10

RO SprTe e SRen AR
TYLIO AT ANRIPR SACG F47 |

Discuss the problems before the
Scheduled Tribes and Scheduled Castes

in Panchayati Raj System. 10
WEOHE  JE© OGP Wiy  we
SRR TR R PR ST

9

( Continued )

1. Choose the correct answer (any four) :

22A/1324

(9)

OpTION—B
Paper : POL-SE-4024

( Citizens and Rights )

W% Teac! MR Serear (R e i o)

(a) According to the report of the ‘National
Crime Records Bureau’, which of the
following States recorded highest rate of
domestic violence in 2019?

303> U9 ‘National Crime Records
Bureau’ ofS@@® TR @FEIA  I[EO
R XY RN TW QR fRE o e
(2R ?
(i) Bihar

LG
(i) Rajasthan

RIEE!

(i) Uttar Pradesh
Teq A0

(iv) Assam
b

1x4=4

( Turn Over )



(10 )

() Which of the Article of the Indian

()

02A/1324

Constitution guarantees to all citizens
equality before law?

A CE I GRS E o I O e —
TR AT 5L T ARIR 2 ez 2
(i) Article 14
RN 38
(i) Article 15
R ¢
(iii) Article 16
RT3
(iv) Article 17
(R >4

In which year was the Mental He alth Act
passed in India?

G 575 SrvwTHe T T e R
[eET b
(i) 1985
Mo e
(i) 1987
PEY A
(ii) 1993
dddY
(iv) 2000

X000

( Continyeq )

(11)

(d) What is the full form of ISI?
ISIR o Ferco! 12
(i) Indian Standard Instrucnon
(i) Indian Standard Institution
(iii) Indian Standard Institute
(iv) Indian Standard Instruments

year was the Consumer

© o e d for the first time

Protection Act enacte
in India?
@R te SRedE® AR [ oS
AR S AT FREEA?

(i) 1983 [ >3¥Y

(i) 1986 [ >3¥Y

(iii) 1991 / 3553

(iv) 2005 / Xeoo¢

The Indian Succession Act, 1925 does
not apply in both testamentary or
intestate succession of Muslims.

spye TR SRR TEARFR AT TR
2w 91 TR TSR TABIS AT T |
(i) Yes | =&

(i) No [/ 7=

Turn Over )
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(9)

1)

2. Write very short answers (any three) :

(12 )

In which year did the Supreme Court of
India rule that Hindu women have
equal property rights?

TR Twey TREE @ e X IReAR
T M SRR I/ o FRERE 2

(i) 2000 / }ooo

(i) 2003 / xo0®

(@ii) 2005 / oo¢

(iv) 2009 / Y005

In which country was the first public
interest litigation commenced?

FRA @© 29 T WS qewmE
RS C2fe ?

() England / %09

(i) America / IR

(iii) India / SH© |

(iv) France / ¥

2x3=6
S 5 e fora (R e o) -
(@) Mention two legal measures against

20A/1324

o=

domestic violence in India.

SReS 1%y Rem Rewm o7 1o Sz I
TErd 40

( Continued )

(b)

()

(@)

(e)

)

Write short answers (any two) :

(13)

Write two provisions of the . Indian
Constitution for protection of rights of
the disabled.

ARTRreR SRR FER A I
RS 2T 7B IR o |

What is Rights to Information?

B2 (TR SRR 2

What do you mean by redistribution?
oo e Bf & 7

Write two objectives of the Mahatma
Gandhi National Rural Employment
Guarantee Act (MGNREGA)-

wmﬁa@ﬂmﬁmﬂﬁmw’fm

What is Preventive Detention?

ﬁﬁommwwqﬁi?

5x2=10

wmﬁm(ﬁ@miﬁ):

(a) Briefly discu

22A/1324

ss the main features of the

Protection of Women from the Domestic

Violence Act, 2005.
ﬁféﬂ ﬁ(’“ W’ yo00¢q m W A4
IMAEPTR 53?35 ScaAnl @90 |

( Turmn Over )




(b)

(©

(@

(14)

What do you mean by minimum wages?
peren TgR e o R e

“Information as a means to realize all
rights.” '

Briefly discuss based on the above
statement.

e SR SoTeR Ty Rowe o 17
THATE TRET YRS TP A 41 |

Write the rules to make complaint by a
consumer.

ToerEz WS MR TR AP s
form

(e) Write a short note on the Indian Penal
Code, 1860.
Srvo T SO WURR WX e e «f6 5
Ot fora

(7 Mention the main objectives of the
Indian Forest Act, 2006.
300% T SRON I WFW T TCwITR
B 40|

22A/1324

( Continued )

((15)

4. Answer any three of the following questions :

10x3=30

TR RIERA R e FofoR Tes o -

(a)

(b)

()

(d)

22A/1324

What do you mean by domestic

~ violence? Discuss the various forms of

domestic violence. 3+7=10

e Ret IFea ot B w7 Ren /R
oy Rt Sercd el 9 |

What is untouchablhty9 Discuss the
various laws against untouchability in
India. 4+6=10
Spsprel 37 SAES A LT R Rtn
R A F4 |

What is the meaning of empowerment?
Discuss the elements of empowerment.
4+6=10

e o 7 AW TAmR
Sz 9 |

Discuss the traditional rights of forest
dwellers. 10

SEIE  SHASPER ATETS SRER
el 90 |

( Turn Over )




(e)

(9

( 16 )

Discuss the historical background of
rural employment programme. 10
o R IER AR BRI
A 901

What do you mean by Criminal Justice
Administration? Discuss the objectives
of Criminal Justice Administration. 3+7=10

G or 2rE T R R @
R AR 2P SRR SCEAsAT 3947 |

What are the different types of bail?
Discuss the importance of bail. 5+5=10

Ry g s B R el ewg
o SCE 0

% % X
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